(2025%)

SH7TE 5 ATEFER

|M7EAA 16 AR

IR A IR/DER
B |® F B 1 = ZTOHhEZE
1 | X |REHBEG13:30 T ERR2 (4,56%F)
2 | & | REHBDI13:30 T
3 | x |FERER
4 |B|BEYDH
5 | A|cELmAE
6 | K |[IREKAE
7 | K |RESMFHE330THR XBELEC
8 | A |EEHMEZ (1,2,3%) TELHEC HFEEME
9 | & |EEE FEBREFLVT(EESR
10|+
1|8

ZERR DERRE(4F)
HAMREFETR1540

13 | & [BIEELIIBR(15)

14 | kK |DERBEE(AFEDORZDE) 2RTHRE |[KRTHER
15 | A |NEL - #1852 (4.566F) HEIENE

16 | £ |RBE(2R)

17|+

18 | B

19| A

20 | &

21 | Kk [ZPHRAEEFHR10:30 BERE

22 | X |BERIEMETRHRZ (1356 2% %E) HEIEM

23 | & FHEZER16:00
24 | £+

25 | |

26 | A

27 | X FBHREFEEES
28 | %k BAFHER
29 | & HREENE

30 | & | EENSHER

31| L |EH=




